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For the Berndt-Wood linear factor demand system with symmetry imposed
MK :01+021DPK+031I1PL+041DPE+951HPM+€K

ML:06+031DPK+071I1PL+081DPE+991HPM+€L
Mg =010+ 04In Pg 4+ 03In Py, + 011 In Pg 4 0121n Py + enr

endogenous: y = (Mg, My, Mg, My, In Pg, In Pp, In Pg, In Py)’
exogenous: x = (1,21, 219)’

parameters: 6 = (61,0, ---,05)

use the data in file klem.dat and documented in file klem.doc which are available either by
anonymous ftp from ftp.econ.duke.edu in directory pub/arg/data or by clicking “Browse ftp

site” on the course web page, to estimate the elasticity of substitution of capital for energy
6'KE =1 +04/(MKME)

My = 6, + 651n Pg + 051n Py, 4 0,1n Py + 65 1n Py
ME :é10+é41DPK+é81DPL+é111DPE+é121HPM

for the year 1959 using three stage least squares and set a 95% confidence interval on your

estimate.



